CONTRACTORS

ENGINEERS

December 29, 2009

James Kennon Kennon Architects 4307 Lealand Lane Nashville, TN. 37204

Re: CITY OF FRANKLIN POLICE HEADQUARTERS

Dear Mr. Kennon,

Enclosed with this letter, is our documentation of cost to add walls at in vent pipes in the Sallyport, as our COR No.45R1.

If the attached proposal is in order, please issue a change order in the amount of \$3,731.00.

Also, we are not requesting any additional days for this work.

Sincerely,

The R. G. Anderson Company, Inc.

Ralph Lee

Project Manager





#### R. G. ANDERSON FILE NO.

## CITY OF FRANKLIN POLICE HEADQUARTERS FRANKLIN, TENNESSEE

### KENNON ARCHITECTS, PLLLC JKA PROJECT NO. 0506.00 STANDARD PRICING COVER SHEET

ITEM OF WORK: ADD WALLS AT SALLYPO	ORT VENT PIPES	_
REFERENCE DRAWINGS :		
CLARIFICATIONS / EXCLUSIONS:		
TOTAL COST		\$3,331.00
TIME EXTENSION ( IN CALENDAR DAYS)	0	

#### Form for Contractor's Subcontractor's Cost Itemization

Materials, Equipment, and Labor itemized				R.G.ANDERS	ON CO., IN	IC.					age Number	1
Job Name:	FRANKLIN P			RTERS							ate Itemized	
Project Number:	KENNON AR	CHITE	CTS, PLLC		F				Γ	Piop	usai Nullibei	UUR 45R1
										1		
	0 12		laterial	#*. # **	0	Unit	quipment Cost	Estandas	Quantity	Unit	Lab Cost	or Extension
Description	Quantity	Unit	Cost	Extension	Quantity	UIII	COSt	Extension	Quantity	Oint	Cost	LA(er(six))
				\$0.00		l .		\$0.00				\$0.00
CHANGE ORDER REQUEST NO.45R1				\$0.00				\$0.00				\$0.00
ADD WALLS AT SALLYPORT				\$0.00				\$0.00				\$0.00
VENT PIPES				\$0,00				\$0.00				\$0.00
				\$0.00				\$0,00				\$0.00
				\$0.00				\$0,00				\$0.00
				\$0.00				\$0.00				\$0.00
				\$0.00				\$0.00				. \$0.00
				\$0.00				\$0.00				\$0.00
				\$0.00				\$0.00				\$0.00
				\$0.00				\$0.00				\$0.00
				\$0.00		Ī		\$0.00				\$0.00
				\$0.00				\$0.00				\$0.00
FIELD ENGINEERING		1		\$0.00				\$0.00	4	HRS	\$58.86	\$235.44
PROJECT MANAGEMENT				\$0.00				\$0.00	2	HRS	\$29.80	\$59.60
ADMINISTRATIVE				\$0.00				\$0.00				\$0.00
ESTIMATING				\$0.00		1		\$0.00	1	HRS	\$29.80	\$29.80
ACCOUNTING				\$0,00				\$0.00	1	HRS	\$19.00	\$19.00
ADMIN ASSISTANT				\$0.00	<del> </del>			\$0.00	1	HRS	\$12.00	\$12.00
SUPPLIES,POSTAGE,ETC.	1.00	LS	\$2.50		ł			\$0.00	l			\$0.00
Car Calaba Contraction				\$0.00	<del> </del>			\$0.00				\$0.00
9946				\$0.00	<del> </del>	<del> </del>	-	\$0.00				\$0.00
	<u> </u>		<u> </u>							1		
										1.	anin <b>m</b> ilaususus	\$355.84
	12 ·		ial Subtotal									
	Sai	les Tax	9.25%	\$0.23					30% P.T.I. Prem. \$			\$106.75
					2128241924246464	(2) [1] [2] [2]	es en		<u> </u>			
	Material Con	cte inch	idina Salae		Equipment Total \$0.00			Labor Costs Including Mark- Up Total \$462.6				
	Material Co.	blo IIIUII	Tax Total									
					<u> </u>							
						<i>t</i> ,			Materia	l		\$2.73
					~				Equipment			\$0.00
								M+E+L			***************************************	
										***************************************		
		·····						10%	Overhead	*************		\$46.53
							1884	E+L)*10 % OH				
							Ç.e.			· Annual		
SUBCONTRACTORS	COST Subcontract Costs \$2,861.0											
	\$2,661.00				//K/LEL4	1.1*4.mo/.	UH/ + Silt	contract Costs		-		
C&W MASONRY	92,001.00				HINTER	wj ±6170	will a one	John Col Wold	- Just 1410	2000000000000	<b>пи</b> рованской посее «могот» (	**************************************
ان نامون عامر تابيعه	60 mm m											
TOTAL	\$2,661.00								ED Desir			\$158.64
						/2/4 h -	E . 1 3 * 4 0 * 4	OUNTED TO-		-		
						(((1)4+	-E+L) 10%	OH)*5% Profit)	- oubtola		Landar Landon Company Company	30,001.00
								1	I managed to the			an.a
						ma alice	0.00%					
				((((	M+E+L)*10	% OHY	"5"% Profit)"	Bond Premium	n - TOTAL			\$3,331.5



P. O. BOX 2174 HENDERSONVILLE, TN 37077 (615) 824-3914 FAX: (615) 824-3330

RECEIVED

December 23, 2009

R.G. Anderson Company, Inc. ATTN: Ralph Lee, Project Manager 1801 West End Avenue Suite 1800 Nashville, TN 37203

DEC 2 9 2009

RG ANDERSON CO. INC.

RE: Franklin Police Headquarters - REVISED

Ralph,

We need an add to our contract in the amount of \$2.661.00 to build walls around drain and vent pipes at Sallyport All block filled solid with grout. The breakdown is as follows:

LABOR				
Supervisor	2 hrs @ \$49.50	=	\$ 99.00	
Laborer	22 hrs @ \$24.59		\$ 540.98	
Mason	16 hrs @ \$45.00	==	\$ 720.00	
Operator	6 hrs @ \$40.13	-	\$ <u>240.78</u>	
	•		\$1,600.76	\$1,600.76
MATERIAL & EQUI	PMENT			
8"CMU	176 ea @ \$1.67	=	\$ 293.92	
Mortar	6 bags @ \$8.35	=	\$ 50.10	
Portland Cement	8 bags @ \$10.05	===	\$ 80.40	
Sand	2 tons@\$25.00	-	\$ 50.00	
8"Wire	70 L/F @ \$.25		\$ 17.50	
Forklift	6 hrs @ \$45.00		\$ 270.00	
Mixer	3 hrs @ \$18.00		\$ 54.00	
21 AM COA.			\$ 815.92	
		Tax	\$ 75.47	
			\$ 891.39	
		O/H	\$ 89.64	
		Profit	\$ 79.26	
			\$1,060.29	\$1.060.29
			A - N	\$2,661.00

\$2,001.00

If you have any questions, please call me at 615-824-3914.

Sincerely,

Laddie L. Wilson L. Wilson President

# C & W Masonry, Inc. P. O. Box 2174 Hendersonville, TN 37077-2174

# WORK AUTHORIZATION

ct: FRANKLIN POLICE					- familiar framework		
ntract Job No.:				Work Authorized By:	age manager is as a some the solution bearing in		
R.6	ANDRESON	)	y - 4, - 5	Title:	The second secon		
			erroger degraph or madellists till a distribution over the	Customer Order No.:			
			ancientation No Column as prove environmental .		<u></u>		
nave authorized	directed	us to perfe	orm the following work:				
0 11		Linna	NONE WENT	pipes ID Solly pe	ert		
DALK -	WHIIS B	ruuns :		Annual Control Communication (Accordance of the Control Contro	gram a gramme and and an and an analysis of the		
ave incurred the	following job cost	s:		<b>▼</b> ,			
	Labor		1	Materia			
*3	Crnft	#Illours	Rate	Description	Quantity		
Name			A CONTRACTOR OF THE PROPERTY O	87 PMU	176		
MA HAYS	- 6	2		MDBhs.	le hos		
SE VE/E	EN O.L.	16		5022	2700		
battle Della	DU L	16		Wilt 8"	70'		
SE ROMB	15 6	le			Phas		
in Ram	5 00	6		Poetlene			
7				The control of the second per second of the	روو سسسوان ورداوا بوطواس سندر وسسد		
				Appears described that is seen to control when you are record about the day of the record about the seen of the se			
				The second secon	manufact. In pages grown makes in the first stage of the state & London Marco 1807.		
and the second s			Equipment and T		- Time		
	Description		Time	Description	_ i inic		
Engli-El			6 hes				
DEN 10TT			3 100		LE MANAGERIA		
MIRER	02 11	2/	1.600		a primar circum, a science, in the contract.		
6-6, 36	privat :		1 1 1 1 1	Additional to the Property and Additional Section Section (Section Section Sec			
8' Brolls	-14		LARG.	The second secon			
				A Latitude of the same and the	and & scalit		
te: Overhead a	nd profit will be	added to our b	ill to you for material and	equipment. Our labor rate sheet ha	8 Overnean & himing		
· .	i. All	011	1 11 . 1	المستعمل المستعمل			
marks:	11 BIK.	Fill50	solid NITA	groat.	COLOR DE LA SERVICIO DE LA COMPANIO DEL COMPANIO DE LA COMPANIO DE LA COMPANIO DEL COMPANIO DE LA COMPANIO DEL COMPANIO DE LA COMPANIO DE LA COMPANIO DE LA COMPANIO DEL COMPANIO DE LA COMPANIO DEL COMPANION DEL COMPANION DEL COMPANIO DEL COMPANION DEL COMPANIO DEL COMPANIO DEL COMPANIO DEL COMPANIO DEL COMPANIO DEL COMPANION DEL COMPANIO DEL COMPANION DEL COMPANION DEL COMPANION DEL COMPA		
	- I Wallet Tank	-			A CONTROL OF CONTROL OF THE PROPERTY OF THE PARTY OF THE		
		****					
				3 ( A ) A ) A ) A ) A ) A ) A ) A ) A ) A			
					W.		
	4						
& W Masgary,	Inc.		<del></del>	Contractor	The second secon		
bcontractor	1)1		<b>*</b>				
Feners 1	Jako -		cinqualitatifik -	Ву:	ACTION AND ADMINISTRATION OF THE PROPERTY OF T		
dditional work is	completed	YesNo		Work authorization no	ol signed because:		
OURIONAL WORK IS	- Somprocod	_ =			to contact representative		
				Authori	zed by phone		
			λ	Foreign 10	sued for record purpose		
				Authori	zation in dispute		
				/timori	AND A SECOND SEC		